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6. In the following question, an idiomatic phrase / a proverb has been given, followed by some
alternatives. Choose the one which best expresses the meaning of the given idiom / proverb:
To take with a grain of salt ' |

(1) To take with some reservation e

(2) To take with total disbelief

(3) To take wholeheartedly

(4) To take seriously

7.  Match the following:

Words Meanings
(a) strife (i) magic
(b) vexed _ (i) top
(c) spell (iiii) trouble
(d) summit (iv) annoyed

M @ - (i) (b)) (€)@ (d)— (i) |
(2) (@) — (@) (b) = (i) (c)— (i) (d)— (iv) °
(3) (a) = (iv) (b) - (i) (c)— (iii) (d)— @)
(4) (a) - (ii) (b) > (i) (c) = (iv) (d)=> (i)

Choose the correct answer in the following after removing the adverb 't00":

The news is too good to be true.

(1) The news is good to be true

(2) The news is beftef to be. true

(3) The news is too good that it can be true

(4) The news is so good that it cannot be true

essayist.

9. . Zulfikar Ghose is poet and
(1) the, a " | (2)an,a -
(3a,an (4) a, the
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10.

1.

13.

14.

He said, "l clean my teeth twice a day".
Select the option which best expresses the given statement in indirect speech.

(1) He said that he cleaned his teeth twice a day

(2) He said that he cleans his teeth twice a day

(3) He said that he used to clean his teeth twice a day |

(4) He said that he is used to cleaning his teeth twice a day

In the following question, choose the alternative which best .expresses the meaning of the

word underlined in the sentence.
He was the most disputatious student | ever had.

(1) Scandalous
(2) Argumentative
(3) Uncertain

(4) Opinionated
Telephonic Connection.

Aman Pandit wants to write a letter to the Subdivisional Officer for a

The courteous leave taking of his letter should be
)] Yours affectionately

(2) Your sincere friend

(3) Yours faithfully

(4) Sincerely

The correct transitive verb of the intraﬁsitive verb given in the sentence below is

All his friends _______ him _
(2) Laughed on

(1) Laughed
(4) Laughing

. (3) Laughed at

The first Indian English writer to receive Jnanapeeth Award is

(1) Chetan Bhagat
(2) Salman Rushdie
(3) Amitav-Ghosh
(4) Arundhati Roy
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15. Select the word which means the same as the group of words given
The medical science of the problems of the old aged people
(1) Oncology (2) Oligopoly
(3) Geriatrics (4) Paediatrics
16. Fill in the blank with one word that substitutes with the definition given
Ina/an___, public, government or historical records are kept.
(1) Coffer | _ (2) Archive |
(3) Scullery - (4) Pantry
17. Fill in the blank with the opposite word of the underlined word
Unlike his stingy brother, he is ; '
(1) Happy : - (2) Revengeful.
(3) Punctual ' _ " (4) Generous
18. Fill in the blank with the opposite word of the underiined word
The officer condemns me most of the times while he always her.
(1) Degrades (2) Applauds ' '
(3) Criticizes ~ (4) Sabotages
19. Choose the word which is synonymous with the underlined word
The rulers of that country were barbarians. -
(1) Angry (2) Uncivilized
(3) Considerate (4) Sympathetic
20. The following question has words designated as-A B C D E and F which are jumbled up and
need to be rearranged to form a proper sentence. Find out the correct sequence of the words
and select the correct option as the answer ' -
A: your D: of |
B: incorrect. E: all
C: are . F: responses o
(1) ABCDEF (2) FEDBAC (3) EDAFCB - (4) CBAFED
SPACE FOR ROUGH WORK
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22.

23.

24.

following questi .
The fc g question has words designated as A B C D E and F which are jumbled up and
: an

need to be rearranged t
ged to form a proper sentence. Find out the correct sequence of the word
ords

and select the correct option as the answer.

A:work - D: succeed

B: students E: hard -

C: will F:and

(1) ADBCEF | |

(2) BCAEFD -

(3) DEFCBA

(4) DABECF

Choose the right option to fill in the blanks
Our uncle a silver idol and it home yesterday.

_.—"I

(1) bought, brought
(2) bought, bought
(3) brought, brought
(4) brought, bought

Choose the right option to fillin the blanks
yet ready to tie the
(1) knot, knot : _ ~ (2) not, not
: (4) not, knot

(3) knot, not

The couples aré

Fill the correct sentence that agrees to the first sentence.

If you do not hurry
(1) you were missed the train
(2) you will miss the train

(3) you have missed the train

(4) you had missed the train
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A3




25,

26.

27.

28.

29.

30,

Fill the correct articles in the following sentence

rich and poor form di
m different sections i
— in any society.
(2) a, a
(3) the, a
(4) the, the

Fill the correct articles in the following sentences.

Mr. Sham : .
) always wanted to interview a novelist, Yesterday he met one at a book shop. He
conducted______interview of novelist immediately

(1) the, the -
3)a, th ' ’
(3) a the (4) an, the

Identify the correct form of tense in the following sentence.

He ______ up everyday at '6' o'clock.
(1) get _ - (2) gets

" (3).got (4) is getting

Identify the correct form of tense in the following sentence.
I
(1) meets (2) am meeting

(3) shall meet ' (4) met

a man, who was carrying a log of wood.

Add a prefix so that the word conveys the meaning given in the brackets. Choose the most '
appropriate answer from the alternatives given below to complete the word by adding the
prefix and shade / blacken the corresponding circles in your answer sheet.

He lost his marks because his handwriting was __legible.

(1) un (2) dis (3) mis (@) il

Add a suffix so that the word conveys the meaning given in the bracket. Choose the most

appropriate answer from the alternatives given below.

(that can be admired)

The president gave a praise speech at the end of the function.

(1) ful (2) worthy (3) able (4) ing

A3
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Add a suffix so that the word conveys the meaning given in the bracket. Choose the most

31l
appropriate answer from the alternatives given below.
(cordial) '
He had a brother _____ relation with his neighbour. a2l
(1) hood | o @l o |
(3)ish - _ (4) ful
32. Choose the most suitable alternative to make the sentence logical and shade/blacken the
corresponding circle in your answer sheet. |
The bird has a nest in the tree.
(1) builded ' (2) building
(3) built - (4) builted
33. Choose the right conjunction fof the following sentence-and shade/blacken the corresponding
circle in your answer sheet.
| was tired, | managed to complete the task.
(1) yet _ (2) but.
(3) and “ : (4) although
34. Choosethesuitableinterjectionfor the followingsentenceand shade/blackenthe corresponding
énswer in your answer sheet. '
I That was a great goal. - _
(1) alas (2) bravo
(3) ouch {4) aops
35, Choose the most suitable alternative to make the sentence logical and shadeibllacken‘the
corresponding circle in your answer sheet. ‘
He understands the consequences of his bad habits.
(1) complete (2) fully
(3) very (4) near
SPACE FOR ROUGH WORK
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36. Fill in th g
e blank with the most appropriate word/words from the given alternatives

and shade/blacken the correct answer in your answer sheet

Rajuis _____ ofall brothers.
(1) Brave

(2) More Brave
(3) The Bravest
(4) Braver

37. Choose the appropriate Question Tag for the given sentence,

The Afghanistan Cricket Team defeated the Australian Cricket Team,
(1) Weren't they?

(2) Isn't they?
(3) Aren't I?
(4) Didn't they?

38. In the following question, some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriaté option. If a sentence is flree from error, .
select 'No error' - ' :
The students leave the school at four reach at home by six ~ No error
(a) (b) () (d)
Ma - (2)b |
3)c (4)d’

39. Raju has two bicycles at home,

(1) hasn't he? _ ' (2) isn't he?
(3) wasn't he? (4) weren't he?
40. On a rainy evening last week, neither the kids:nor the senior citizens _.in the park

(1) was seen (2) were seen

(3) to being seen ' (4) are seen
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which of the following statement/statements is/are correct?

A3

7
(a) Level 1(L1) cache is present inside CPU
(b) Level 2 (L2) cache is situated at the motherboard of computer system
(c) Cache memory stores data for temporary use
(1) 'a\, 'b' and 'c’ options are correct -
(2) only 'a' and 'b' are correct
(3) only 'a'is correct
(4) only 'c' is correct
72. Which of the following is not a Data Scanning Device?
(1) OCR device
(2) OMR device
(3) Barcode reader
(4) Touch screen
73. Match the following:
a. SMPS i. To house various components of .computer'
b. CPU | ii. Data storage
c. HDD/SSD iii; Supply power to various parts of computer -
d. Motherboard iv. Arithmetic and logical operatiéns '
‘Wa-—ii b-iv c—ii d-i
(2)a-iv b —iii c—i d—ii
(3 a-—ii b—iv c-;i d—iii -
@a-i bl €=V d —iii
" 94. Which Operating System (0S) includes MS-DOS?
(1) Windows ; (2) Linux
(3) Unix: (4) Mac
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75. When the output of AND gate is 1?
(1) only if both inputs are 0
(2) if any one of the inputs is 0
(3) only if both inputs are 1

(4) if any one of the inputs'is 1

76. Wlhich of the following is the quick and clear method of communication?

(1) e-mails
(2) notices/pdsters

(3) face-to-face informal communication

(4) business meetings

77. When we effectively communicate verbally, we should use
(1) Simple words (2) Difficult words

(3) Confusing words : (4) Abbreviations

78. Encryption is a process of
(1) Converting ciphertext to plaintext
(2) Converting plaintext t6 image
(3) Hiding text behind image

() Converting plaintext to ciphertext

- 79. . is the uneven delay in the video/audio data packet delivery

‘(1) Router | | (2) Accuracy
(3) Jitter o ~ (4) Deliver
. SPACE FOR ROUGH WORK
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g0, WRoO WIND

a. 83830 I, taf epf ook
b. Jp tieeBRcSE Il s, B¢ 9o Qe
c. A0 lil, PRBOF oI
d. 459, FS0TRE QOCRODT iv. 0300 o e

. (Ma-iv  b-iii c =i d=i
(2 a-iv  b-i c—ii d - ii

@a-ii b-i c—iv d - il

(4)a-i b —ii 'c-;iii._ d-iv

81. aj‘cuu‘a&?ﬂ QTS Wi Bne (Rows) niy ﬁoﬁsﬂ QoW TBIRH?
(1) @0,
(2) BAF®
(3) PRFROW
(8) eSeR

- 82, QTR QNSNS (Entities) ﬁouoqﬁdabq ST FE0X0Z3? \
(1) 0300

(2) ¥o

(3) L35S0

(4) agasrc‘ﬁa

83. MFRec’ AeaRY 3 FOTE BOTODFCT), Q0T FBINZ3.

(1) mﬂaon‘
(2) soFOon¢
(3) ﬁaon‘
(4) Geuf’)‘on‘

. SPACE FOR ROUGH WORK

22



g0 Match the following: -

a. Jitter i. Set of rules

t T .
b. Protocol ii. Delay in packet arrival
c. Simplex

-~ jii. Physical path

d. Transmission medium iv. Unidirectional

(Ma-iv  b-iii c—ii d-i
(@Qa-iv  b-i c—ii  d—ii
@)a-ii  b-i c—iv d —iii
@a-i  b-ii ¢ — i d—iv

-81. The total no of rows present in a table is called as ___
~ (1) Degree
(2) Domain

(3) Cardinality
(4) Relation ‘

82. What is the reiationship called when it is maintained between two entities?
(1) Unary
(2) Binary -
(3) Ternary .
(4) Quaternary

83. is the process of finding errors in software code.
(1) Hacking
-(2) Compiling
(3) Testing
: (4) Debugging

SPACE FOR ROUGH WORK
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84. WDAIN Be=F TN TS JodeoSohd Boxp, #30° WOFRTORENO NV #300Z39
(1) Sorrdest o a )
(2) 8,37 QORWOL
(3) LPorsdeIn®
(4) LaNo* AR*

85. LT, TORFT, MIFFEN', Somierisd 81 YNS 0INFTF WTOBOBN?
(1) SO, LT FoxF
(2) ot FTxF
(3) ¥R, &S T
(4) I°F

86. 35 BN O3 Tiro20d08, 2,053t FHaLEO 50,000 & FEH WHEERTS BURRYR) FRRIR?
(1) B3 C #oarasuq
(2) BR=TF soTp, t3TF
(3) Q08 Fo,t3T*
() et e o, Tt

87. Oty AVFIBN 81 IENT cIRE 9e3FIHY BeoDa) w¥iRozT?
(1) OT.83.2.
(2) Sesf.83.8.2.
(3) wTf. 2.8,
(4) L3eFSest

88. s NIYNYO CIRFYT Octal HOWTTIY? '
(a) 274
(b) 678
(c) 149
_ (d)144
(1) (a) =9,
(3) (d) =33, .

(2) (b) =R3,
(4) (b) 032 (c)
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ga.

85.

86.

87.

88.

what is the computer terminology for login name and password verification?

" Configuration

(2) Access Eligibility
(3) Authentication
(4) Logging in

Quick heal, Norton, SmartDog, Mcafee are the examples of
(1) Computer virus

() Antivirus

(3) Trojan horse

(4) Worms

can serve upto 50,000 uses at the same time

(1) Microcomputers
(2) Supercomputers
(3) Minicomputers

(4) Mainframe computers

An Internet Service for remote administration is
(1) FTP ' ' '
(2) HTTP

(3) RPC

(4) TELNET

Which of the following is not ah octal number?
(a) 274
(b) 678
(c) 149
(d) 144

M@only (2) (b) only

(3) (d) only (4) both (b) and (¢) *

A3
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89. S@nﬁr@ﬂ%@ IR =R APl 2.3:16 oaj ®0 ?

(1) 101 . e

ibas (4) 11

90. Email ~ooi:ama"wo BCCob 3 N0 T SemEesd?
(1) ¥ 00 Trs* B
(2) T, BoFpexs e,
(3) ¥ ,0=* N w2
(4) % or TS Lol

91 X uBodb c3n3nn EJQ?'»JGDTbSd? (0.7, )
(1) i B3 (Auto Sum) (2) esedsne a;:aam £ (Auto Format)
(3) wtire F® (Auto Hide) . (4) 3edne 855 (Auto Correct)

92. 83 riroBoo3 BOT alp, ¢, 08 & AR MEF RRELY DORACTFRY FoLs (e BT 0IR
) pl 2N DY \ td e : h
03 oDR) WIRRI? |
(1) Qs3° = Sewo®
(2) B3RS Fp,em,0
(3) Bpemo & s—;;cz&cj
(4) &, 37 Bowo*

93. 60@%&30‘ adzs’o:bab 0,5 SRBL .cevveeerennns ueaaaig‘ NoRReTE sISetiont 20?3062 WEST.
(1) -2 - (2) F-4
(3) DFF-6 - : (4) ©T°-5

94. MS-Word s F* o, T oIRHT?

(1) .dot (2) .doc

(3) .xml @) .bin_

SPACE FOR ROUGH WORK
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g ’

gisnota valid binary number?
(2) 1100
(4) 1111

89. which of the followin
(1) 101
(3) 1002

90. Full form of BCC in Email composition is

(1) Blind carbon copy
(2) Behind compose copy
(3) Blind cloud copy

(4) Blind carbon cloud

91. T isused for in MS-Excel?

(1) Auto Sum (2) Auto Format

(3) Auto Hide (4) Auto Correct

92. In windows, we go to ____ option in _control panel to uninstall a program from .
our computers. _
(1) Device manager
(2) Default programs
' (3) Programs and features

(4) Action center

93. button is used to refresh the window in windows operating system.

M F2 ', (2) F4
PrFe - | (4) F5

94. The file extension of MS-Word fileis ________
(1) .dot , (2) doc
(3) xml (4) .bin

SPACE FOR ROUGH WORK
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95. TRODL WSO
a) P wRde i) 23T (ICs) D HTRTE (SSI) & Q02T (MSI) Hmeiext
b) B0 wR3eRS® ii) 222%° (ICs) DG A*RTR (VLSI) &quozam‘ )
c) Pafe wRdeINE iii) wam =f R w‘
d) Spr’r wIdeI® iv) t,930¢
e) T BRSRS | v) o (ICs) ant omav‘ms‘eo (ULSI) Espoie
Ma-i b —ii c —iii d-iv e-v
(2)a-ii b —iii c—iv d-i e-vV
(3) a —iii b-iv = c-i d—ii e—-V
4a-v b-iv c — iii d—ii e-i
96. . 6308 Food0F ROTRRO ordts, WIS ReRRAE WO 85 SN 03RS B0, LT WIATD?
(1) STk, (2) 03000, 5
(3) o3, . (4) 20 65
97. é@ﬁﬁ@ﬁ#@ odm@dsi: WP TIe [e weBHm a:ua ow'ng *msaﬂm eh&acﬁac&s‘ amwws::m?
(1) 030308 _ (2) m 23,
(3) LoPees® @) a)asw:;
98. VU z‘:‘:a‘mﬁg BOSFIPY aararie;ez ERTTN T Sk (text) B3 3PNT 030 mdaaiag
BRdoIn3T? .
() utf (2) doc
(3) ref (4) gif
99. IPv6 2 QD ?
(1) 32w (2) 64 e
(3) 128 ez’ (4) 256 Wt
100. "dr’ n’féab md:a,u ®03- ﬁoémn esaaa,-aira*éos 3 mg aﬁ;pda.
(1) e:roa;ssf (2) Fpewmtss
(3) Cé’.@fﬂ@fﬁ‘ : (4) NONTE-TTE
SPACE FOR ROUGH WORK
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95.

Match the following,

a) First generation

b) Second generation
c) Third generation
d) Fourth generation
e) Fifth generation

(Ma-i b -ii

) ICs with SSI and MSI Technologles
il) ICs with VLSI Technologies

ili) Vacuum Tubes

iv) Transistors

v) ICs with ULSI Technologies

c — il d-iv  e-v
(2a-1  b-ij c—iv d-i e-v
@a-ii  b-iv C~i d-ii e-v
@a=-v  b-iv g d-ii e-i

96. was the first commercial computer used in the United States.
R (2) UNIVAC
(3) ENIAC (4) IBM 65
97. Which of the following helps to automate a frequently used series of commands? |
(1) Utility . (2) Macro
(3) Template (4) Wizard
98. Now-a-days Kannada text in Internet (web) is available in fér_mat
(1) utf : ' (2) doc
(3) ref (4) gif
99. The size of the IPv6 is _
(1) 32 bits ' (2) 64 bits
(3) 128 bits - (4) 256 bits
100. Identifying problems and solving step-by-step is known as \
(1) Algorithm (2) Flowchart
(3) Pseudo code (4) MS-Word
SPACE FOR ROUGH WORK -
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